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Polar Review

Plot each polar coordinate on the graph.

1. A(4,270°)

2. B(-3,m)

471N

3

3, c(s,

4, D(-3,120°)

are°, 3%/

Convert each of the following rectangular coordinates tao polar coordinates. g’nswers for 8 should be

in radians, exact answers if possible. If you need to have decimals, please round to the nearest

thousandth. o

5. (—3,3) i[_\z\rF , 6. (—2,—-2V3) 2 (_4/335)
(r, &) l (‘4, 4%1{) 2G|/ (——“f,-—g—q!

67, %) or (55,8) 9,3

oc (-3,27) or (37,3)

: 1
7. (-0.8,-2.1) 2 ol 8. (—2.3,0.2) .é?:l
(~8) ¢ 21) =c ;.z_soqf—q.‘iﬂ) =13

s = {5.05%3317 *(3.308,175.03),
- e ~134, 2
D.! tane = .L;j &= (9 9) (DM (-2 = ¢
. ; 3 z.nw;l/oﬁZ) e JEE
~ ((’2.2‘47) (q.1°)er (2.2q-}L2qu'l r = 2.309

Convert each of the following polar coordinates to rectangular coordinates. Decimals should be
rounded to the nearest thousandth.

' 2.5

2

9. (5,300 (;@ﬁ_g 0. (¢F)
((5ces Boo°, Ssi3c0%) ’ (#cos 3, %/.n%r>
(5 513

1 =2




i
11. (—3.1,182°) 13, (8.1,5.2)
(-3.1 cosi82) -3 Sin(152°) ) (%.1ces5.2 R.\gin 53)\
% (3.095, .108) -+ (3.195,-7.150 )

Find the other 3 polar coordinates that represent the same point for —2m < 8 < 2.

13. (4§) 14, (—2,—2?”) (2, ";’
= 5
(-4, 7)o (457 (2,-5%)
oV _ 9 )
(-« 'L’.‘f\ ( z, ’?’:f
Py

Find the other 3 polar coordinates that represent the same point for —360° < 8 < 360°.

16. (3,—20°) ‘ y 1 —4,103°)
(3,240°) (a,-711°)
(-3, 1L0") (4,183
(-3,-200") - (-4,-251°)
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Graph each polar equation, Then convert the equation to rectangular form,

18, =3

Cirel

e w/

rectangular equation:

19, r=5 (‘,]rc,\c, w[ r‘adiuS

f

rectangular equation:

19. 6 =30°

ok 5

Convert the following polar equations into rectangular equations so that you can graph them.

20. r =3sech

Yy ecse =3

[x=3]

&r:HCa.S)
Py

21. r=-5c¢sch

ho\f’\ %OY\TE&
Line
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O X +(3 2)* = 4
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2. r=4sin6 ¥ y2Z_UYreing 25 ==Bea8a r*= ~brecose ‘
|
i
|
{
|

Ao AR AL Circle GEBSE S8
O s O center (¢ ;"2) N ST
\},.,x\'!, y \X/ N 7
N g r=2

A s s 2

2.
Y "= 5vcose

x"'+-tj7' = B5x
5
x> -sxrdy’= %
a2z 25
(x-3) +y*= =
tivdle center (2

5,0)

oV io 2.2
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l.«« ~ Convert each of the following polar equations to rectangular form (general conic form). Classify the
conic.
s re
27. r=25in€—-6cos€)‘r (\1’[02-58,92:1;?( CW
r*= drsine —bvrcas® |
5 t+vrcose =
X 4y* = 2y— Gx
r+x =1
L
X ry* 4+ x-2y = (A= (- x) Pasrodoo Lo
Civrcle -x’fmj | = 2x + D
Y ol =z2x [ o1 a ]
=3 S
—2Z
£S5 P :5—235in6 30, r:1+4cose F
. |
Er—-2+sine = 3 r + Hrcose = 2 ﬁ
Sr -2y = 3 S r+4dx = 2
. 2 I
© L5\r C31’2u1 7:—@_—-'—1')”

25x %= +Q-5(d =9- -#—l'.)_l:’-t—"hj

mﬂ’llq"? =0 |

F&w—, +-be Lf O |

Enupse,

‘H—.,‘Parbolc‘— :_

|

: F

Convert each of the following rectangular equations to polar form. E
|

|

3. 2#F i =dy
2 3yvcosH
r % —-4HycoSe
r (v~4Ycose)=0

0 [Y‘ HcoS e (

33, y=-—

32. x=7)2+(y+2)2=53
+Yy +’-r'jt/9(~5/3/
—14x +4Y =

~ |tviose +HrSmE= O
r ( v~1HC058 —f—’*—/SIn-B)’-“-Q ‘

r=0 @cosa —4sne |

5 |
em’( )

T

X = =PX +j«9/

xl+7

34. y =?x

'<(

,

JCM@

-_———v

@




Identify and sketch a graph for the following.
35, ¥ =2 ¢cos8
Convex

Wdentification: L.\ mC\9 on

!

identification: Cbﬂ Y€X

[‘.\ Limagon

+ { —
.:-/
3

38, r=13 ;3:(:3)

Te

identification: P\CS& W] 8P€.’\"C\,\S

3cos (4 (D>>
3. |
3

T

)

36, r=1-2sind
) o
identification: L.imagon w/ lnntrl of

8. r= 23in(26’
identification: ROS& with 4p&+&|5

QL
AR

40. r = 65inf38)
identification: RDSQ_ W
{B: 1 2petals
I‘n’

—

2
o sin LB’;L)
o (-1)

—b




“over the wall? X = 130 COS(3?°) t

Eliminate the parameter.

4. x=t-3, y=2t+1, t=0 25.x=t+5 y=+t t=0
'T(,\ Xt3=t Yy=2(x+3)+| x-5=t
'5:1X+-7& j:m i
e slepe? yrintCo) Syugre root
26.x=—2+1t% y=1+2t% foranyt 27.x=¢e', y=t, foranyt |
X+2=t?% Y= | +2(+2) InXx=t m
5:[1“2)('}-4-
E:2X+51
28.x =3cost, y=3sint, 0<t<2m 29.x = 2sint—3, y=2cost+1, 0<t<2nm
—%:cht .iasmt x> _’:Lz;’ x;% =snt j_J"CQS{I

cos*t +sintt=l 979 tos?t +sin & = | rﬁ( Pt
X\ VA Z 2 X+ ~1|z27
(3)>+ (F) =] [x2ty*=1] (-—»Xf).;-(ﬁ;’) = | o il
30. A golfer at a driving range stands on a platform 2 feet above the ground and hits the ball with an initial

velocity of 120 feet/second at an angle of 39° with the horizontal. There is a 32-foot-high fence 400 feet away.
)etermine the position of the ball as a pair of parametric equations. Will the ball fall short, hit the fence, or go

|2eF |

=~ { (39 ) + L

(3(&9/ \\ Hﬂt + \308_'1)7—;#'“4 _ |
@o ~12000s(39°) & @,0 L'OO/T\ :

De ‘n'm{(_

tx4.269
Y(4.289) 43155 FF. No the ball
il hot cleav +he wall .

31. Suppose a professional football player kicks a football with an initial velocity of Zer second at an
angle of 68° to the horizontal. Suppose a kick returner catches the ball 5 seconds later. Determine the position
of the ball as a pair of parametric equations. How far has the ball traveled horizontally and what is its vertical

- 87 cos (65°) L 27 yards = 97#
Yy = 1o t* +8T5in(CR") £ 1‘
Pall hits the Grovnd actfer

x(5] =87cas(68)(5)  y(8) = ~11o(5)* +8Tsin(6§°)(5)
¥(s) = 142.95 y(s) = 3.325FF,

The ball fraveld 162 95'&' 6r 54.3 5arv/y ;}DV;%mla“gb
$+ was Cau.awhc ad' a\ler'hcd huswf_ of 3.32 ¢k

I —

height at the time it is caught?



